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@ (a+b)? =a®+ 2ab + b?
@) (a-b)? = a® - 2ab + ?
® (a+b)(a-b)=a®-b?
@ (x+a)(x+b)=x*+(a+b)x+ab

® (ax+b)(cx+d) = acx® + (ad + be)x + bd
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982 = (100 — 2)2
=100% — 2 x 2 x 100 + 22
= 10000 — 400 + 4
= 9604

(a—b)? = a® - 2ab + b* & °|-&5IH Hrt.




3. x=2a-b,y=-3a+b2d W, 2x-5y5 a, bol| &
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@ 19a-17b @19a—7b @ 19a - 3b
® 19a+7b ® 19a + 3b

B

x=2a-bO|BR 2x =2(2a - b) = 4a—2b
y = -3a+bO|BE 5y = 5(-3a + b)
2x — 5y = 2(2a - b) — 5(-3a + b)

=4a — 2b + 15a — 5b
=19a - 7b

= —15a + 5b
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2(x+2y) =x+y

2x+4y=x+y

x = -3yoln& Fol 7l Ho] tfdsw
x + 3y _ =3y + 3y _0

x+y  =dy+y
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@D 4-5x+6x2 —6x% —9x+ 12 = —14x + 16 (¥AH2])
1 1
@ (7——) +(—+8> =15
X X
®54+6x+x2+5-6x—x>=10
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6. 2(4x+ay)(bx+y) = 24x® + cxy - 6y & W, A a, b, ¢ oA
a+b-c 9 g2?
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2 (4x + ay) (bx +y) = 8bx* + (8 + 2ab)xy + 2ay?
8bx? + (8 + 2ab)xy + 2ay? = 24x? + cxy — 6y?
a=-3, b=3, c=-10

“a+b-c=10
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8. 5x-3y-T=-x+9-12d 5x+2y-1=y°] B Ao=w
YUERH ™A ay + b 2H3L St} a + b 9] 27

@-1 @-0 -5 @10 ® 14

B ~

ox—3y-7T=—-x+9 -1,

6x =12y + 6, x = 2y + 1 Y2t}

(F4) =-5(2y+1)+2y-1
=-10y-5+2y—1
=-8y-6

Ta+b=-14
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- ollA x4y + 2 O] gk FLolH?

@ 18

®)19

(612)3 X (a?))x = q!8
a6 X a3x — a18

6+3x=18 Sox=4

a* 3 a
() =%
a2 @
a = 56 Soy=12
(a®b)* + a® = a*b®
a®b* + a® = a*b?
a%2pt = g4p3 L z=3

Cx+y+z=44+124+3=19
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